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Cuadro 9 (continuación 5)/Table 9 (continued 5)
Ecuador: tablas abreviadas de mortalidada

 Ecuador: abridged life tables 
a

2000

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.036 0.035  100 000  3 461  97 026 0.961 b 6 984 457 69.8
1 4 0.002 0.010  96 539   918  383 620 0.993 c 6 887 431 71.3
5 5 0.001 0.004  95 621   353  477 221 0.996 6 503 811 68.0

10 5 0.001 0.004  95 268   368  475 418 0.994 6 026 590 63.3
15 5 0.002 0.009  94 900   821  472 445 0.989 5 551 172 58.5
20 5 0.003 0.014  94 078  1 334  467 057 0.985 5 078 727 54.0
25 5 0.003 0.016  92 745  1 500  459 973 0.983 4 611 670 49.7
30 5 0.004 0.017  91 245  1 595  452 237 0.982 4 151 697 45.5
35 5 0.004 0.019  89 650  1 735  443 913 0.979 3 699 459 41.3
40 5 0.005 0.023  87 915  2 017  434 535 0.974 3 255 546 37.0
45 5 0.006 0.030  85 899  2 534  423 160 0.966 2 821 011 32.8
50 5 0.008 0.039  83 365  3 238  408 728 0.953 2 397 852 28.8
55 5 0.011 0.054  80 127  4 365  389 720 0.935 1 989 123 24.8
60 5 0.016 0.075  75 761  5 706  364 541 0.908 1 599 403 21.1
65 5 0.023 0.109  70 055  7 655  331 139 0.868 1 234 862 17.6
70 5 0.034 0.158  62 400  9 884  287 293 0.812  903 723 14.5
75 5 0.050 0.223  52 517  11 714  233 298 0.735  616 430 11.7
80 5 0.075 0.318  40 802  12 977  171 570 0.651  383 132 9.4
85 5 0.098 0.394  27 825  10 975  111 689 0.575  211 563 7.6
90 5 0.126 0.475  16 850  8 008  64 232 0.475  99 874 5.9
95 5 0.187 0.621  8 843  5 487  30 494 0.144 d  35 642 4.0

100 ω 0.652 1.000  3 355  3 355  5 147  5 147 1.5
Mujeres/Females

0 1 0.027 0.026  100 000  2 609  97 725 0.970 b 7 593 597 75.9
1 4 0.002 0.009  97 391   845  387 201 0.994 c 7 495 872 77.0
5 5 0.001 0.003  96 546   282  482 027 0.997 7 108 671 73.6

10 5 0.001 0.003  96 265   272  480 644 0.996 6 626 644 68.8
15 5 0.001 0.004  95 993   426  478 899 0.995 6 145 999 64.0
20 5 0.001 0.005  95 567   484  476 623 0.995 5 667 100 59.3
25 5 0.001 0.006  95 082   542  474 056 0.994 5 190 477 54.6
30 5 0.001 0.007  94 540   649  471 077 0.992 4 716 421 49.9
35 5 0.002 0.009  93 891   834  467 370 0.989 4 245 344 45.2
40 5 0.002 0.012  93 057  1 131  462 458 0.985 3 777 974 40.6
45 5 0.003 0.017  91 926  1 576  455 690 0.979 3 315 515 36.1
50 5 0.005 0.025  90 350  2 247  446 131 0.969 2 859 825 31.7
55 5 0.008 0.037  88 103  3 248  432 392 0.955 2 413 694 27.4
60 5 0.011 0.054  84 854  4 547  412 905 0.935 1 981 302 23.3
65 5 0.016 0.078  80 308  6 245  385 924 0.902 1 568 397 19.5
70 5 0.025 0.120  74 062  8 899  348 063 0.853 1 182 473 16.0
75 5 0.039 0.177  65 163  11 553  296 932 0.781  834 410 12.8
80 5 0.062 0.271  53 610  14 505  231 787 0.685  537 479 10.0
85 5 0.093 0.377  39 105  14 731  158 698 0.590  305 692 7.8
90 5 0.122 0.465  24 374  11 327  93 553 0.485  146 994 6.0
95 5 0.181 0.609  13 047  7 945  45 372 0.151 d  53 440 4.1

100 ω 0.632 1.000  5 102  5 102  8 069  8 069 1.6

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


